EAST POINT SCHOOL
CLASS-VIII
WEEKLY WORK PLAN-JULY- WEEK-1

ENGLISH

Unit 2 : Chapter 1 — A Day in the Country
VIDEO LINK: https://www.youtube.com/watch?v=02u20QcpjUeQ

Outline of the Story

A day in the country is a story about two orphans who were playing when a threatening storm appeared
which forced the residents to take refuge. Danilka, an eight years old boy, got his hand trapped in the
tree. Luckily, Danilka’s sister Fyokla, six years old girl went to the town for asking help. Terenty a
cobbler, assured to provide assistance to her to rescue Danilka. After the storm passed, the three
enjoyed the splendors of the country the rest of the afternoon. Danilka is fascinated by nature and its
beauty.

Summary

‘A day in the country' is written by Anton Chekhov. It pays homage to an unsung hero, a homeless
cobbler whose name is Terenty. In the beginning of the story a beggar girl named Fyokla, who is 6
years old comes running through a village. The village is preparing for an approaching storm. She
addresses everyone as “uncle”. She is searching for some particular person. She finally finds Terenty
in the kitchen-garden. He is a “tall old man with a thin, pock-marked face, very long legs, and bare feet,
dressed in a woman’s tattered jacket”. He does not look like a hero. But Fyokla is searching
desperately for someone to help in freeing her brother Danilka, whose hand is stuck in a tree. Terenty
does not give importance to the approaching storm and talking reassuringly in fatherly tones he goes to
free Fyokla’s brother.The story tells us that Terenty “answers all questions, and there is no secret in
nature which baffles him. He knows everything”. The writer further adds that indeed “all the villagers,
generally speaking, know as much as he does”. But the difference is that Terenty is willing to share his
knowledge and time with the two orphan children. The children love him for this reason.The two
children retire to a deserted barn after spending the day with Terenty. And Terenty goes to the tavern.
Chekhov further tells about Terenty's sincerity and love for the two orphan children. Terenty comes
back later and puts bread under their heads making the sign of the cross while they are asleep. In this
way Terenty tries to make the lives of Fyokla and Danilka a little better than his own.

Complete the statement.
1. Why was Fyokla looking for Terenty

2. Why was Terenty respected?

Q3 What was the effect of change of weather on the following-
Q4 What happened to Danilka? What caused the accident? How did Terenty help him?
Q5 What had Terenty learnt about the ants and the bees?


https://www.youtube.com/watch?v=o2u2QcpjUeQ

Q6 Danilka looks at Terenty and greedily drinks in every word.
a. What is Danilka’s mood here?

b. Where were they?
c. What was Terenty telling him?

Q7 Describe the change in Fyokla’s mood in the story.
Q8 The story reflects Terenty’s love for the children. Give three reasons to prove this.

HINDI
PLEASE WATCH THIS VIDEOS

https://www.youtube.com/watch?v=km7fwyvpcwM

https://www.youtube.com/watch?v=XnpqgtknCE8s
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MATHS

Revision of Chapter 1 and 12

Rational numbers
» Definition: A number is called Rational number if it can be expressed in the form p/q where p

and q are integers (q > 0). Example :1/2, 4/3, 5/7, -2, 4, 0 etc
» Additive Inverse:The additive inverse of a rational number is the same number with opposite
sign.

In general, for a rational number a/b the additive inverse is

—a/b.
0 is the additive identity for Rational numbers.

> Multiplicative inverse: A rational number a/b is called the reciprocal or multiplicative inverse of

c/d if a/b x c/d =1.
One is the multiplicative identity for rational numbers.

» Rational numbers are closed under the operations of addition, subtraction and multiplication.
» The operations addition and multiplication are

(i) commutative for rational numbers.

(i) associative for rational numbers.

» Distributivity of rational numbers: For all rational numbers a, b and c
alb+c)=ab+acanda(b—-c)=ab-ac

» Rational numbers can be represented on a number line.

> Between any two given rational numbers there are countless rational numbers.

Q-1) What is the Multiplicative identity for rational numbers?
Q-2) What is the Additive identity for rational numbers?
Q-3) Write the additive inverse of (i) -4/5 (ii) -6/-5 (i) 25/-16.
Q-4) Write the multiplicative inverse (i) -5 (i) 3/5 (iii) 6
(iv) -5/8 x -3/7.
Q-5) Multiply 6/13 by the reciprocal of -7/16.
Q-6) The numbers and are their own reciprocals.
Q-7) Verify commutative property of multiplication for the following:

-5 11
x=—and y=—
12 13

Q-8) Solve using distributive property (i X %) + ( Zx =2 )

16 16 9

Q-9) Represent the following rational numbers on number line :
1/3, -8/5, 11/6, -7/3
Q-10) Insert 10 rational numbers between -1/4 and -2/5.

Chapter - 12 Exponents and Powers

Laws of Exponents:
m_ 1
1) am= a_m

2) amxat=am*n
3) am+a"=am-"




4) (am)n:amn

5 amxbm=(axb)m
6) am+bmM=(a+b)m
7) a®=1

Q-1) Find the value of:

i) 52 )=

Q-2 simplity: (32 - (2} + &2

Q-3) Simplify:
() (5 x 2
(i) (2 = 4)?

Q-4) Find the value of x for which 5% + 53 = 5°

25 x t™*
573 x10 x t~8

Q-5) Simplify:

Q-6) Express the following numbers in standard form:

(i) 543000000000000
(i) 0.000000023

Q-7) Write the following numbers in the usual form:

(i) 4.34 x 10°
(i) 3.14 x 107



SCIENCE
CHAPTER - FORCE AND PRESSURE

Pressure
Pressure is the force acting on a unit area on an object.
Pressure = Force/Area

In this equation, force is the numerator and area is the denominator. This means that
pressure is directly proportional to the applied force but inversely proportional to the area
on which it is acting.

Following examples illustrate this effect:

e Itis easier to push a nail into a wooden door through its pointed end than
through its blunt end, because small area of the pointed end helps in creating
more pressure and it becomes easier to insert the nail.

« Shoulder straps of your school bag are wide. A larger area helps in reducing the
pressure on the shoulder; and makes it less painful to carry the bag.

o Camel’s feet are wide; making for larger area. Due to this, a camel can easily
walk on sand.

o Eskimos wear ski-like footwear. Wider area of the footwear reduces pressure
and thus prevents the Eskimo’s feet from sinking in ice.

Pressure Exerted by Liquids and Gases
Liguids and gases exert pressure as follows:

« Pressure on the bottom of container depends on the height of column of gas or
liquid. Due to this, divers have to withstand a large pressure at the bottom of the
sea.

o A fluid exerts pressure on walls of the container. Containers for gases and
liquids are usually cylindrical ion shape to equally distribute the pressure on all
portions of the wall.

o A fluid exerts equal pressure at same depth.

Atmospheric Pressure: The pressure exerted by atmospheric air is called atmospheric
pressure. The weight of air in a column of height of atmosphere and area 10 x 10 cm is
1000 kg. This is roughly same as the area of our head. Can you believe that you have
1000 kg of air on your head?



2.
ACTIVITY-1. To show that liquid exerts equal pressure in all the direction.(At equal

depth)

Material required- Plastic Bottle ,water.one piercing needle.
Procedure- *Make three holes in bottle at same height.

*Fill the bottle with water

Observation —Water is coming equally from all the sides.

Jet of water

Result- liquid exerts equal pressure in all the direction

ACTIVITY -2

Aim-To show that liquid exerts different pressure at the different depth.
Material required- Plastic Bottlel,water.one piercing needle.
Procedure- *Make three holes in bottle at different height.

*Fill the bottle with water

Observation —Water is coming equally from all the sides.

Result- that liquid exerts different pressure at the different depth.

Formulas to remember

1. | Force- Any push or pull is known as force.
Force= mass*acceleration

F=m*a

Sl unit of force is Newton (N)

Or 1Newton= 1 kg*1 m/s?

2. | Define I newton — If | kg mass is accelerated with 1 m/s?acceleration then force
is said to be 1 newton.

3 Force is a vector quantity ,it needs magnitude as well as direction
1

If force is 5 N-then 5 is magnitude.




4. | If 5 kg object is accelerated with 10m/s?.find applied force.
5 Balanced force- if equal force is applied on object from opposite directions ,then it is said balanced force.
6. | Unbalanced force- if unequal force is applied on object from opposite directsions
,then it is said unbalanced force.
7. | Force is of two types
1. Contact force-example (@) friction force (b) muscular force
2. NON-contact force- example (a) gravitational force (b) electrostatic force
(c) magnetic force.
8. | Pressure-Force per unit area is known as pressure.
PRESSURE=FORCE/AREA
1 PASCAL= 1 NEWTON/1 METER?
9. | Define 1 pascal - if 1 newton force is applied on 1 m? area the pressure is said
to be 1 pascal.
10 | If 40 newton force is applied on 10 m?area the find pressure.
Solution-
PRESSURE=FORCE/AREA
= 40/10
= 4N/m?
11 | If 40 newton force is applied on 20 m2area the find pressure.
Solution-
PRESSURE=FORCE/AREA
= 40/20
= 2N/m?
12 | In above cases we find that for the same force if area is increased then pressure
decreases.
CONCLUSION- For same force
if area is increased , pressure decreases
or area is decreased then pressure increases .
13 | Why do we use sharp knife ?
14 | How is camel able to move in desert ?
15 | Why the tip of nail is pointed?




SOCIAL STUDIES

VIDEO LINK: https://www.youtube.com/watch?v=PKvOdXiRuY]|

Activity: Draw flow chart on land revenue system or the three settlements along with their main
points that was introduced by the British East India Company(BEIC)

Chapter 3 — Ruling the Countryside

The Company Become the Diwan

The East India Company became the Diwan of Bengal, on 12 August 1765. As Diwan, the
Company became the chief financial administrator of the territory under its control. The Company
needed to administer the land and organise its revenue resources. It needed to be done in a way
that could yield enough revenue to meet the growing expenses of the company.

Revenue for the Company

The Company’s aim was to increase the revenue to buy fine cotton and silk cloth as cheaply as
possible. Within a span of five years, the value of goods bought by the Company in Bengal doubled.
The Company, before 1865, purchased goods in India by importing gold and silver from Britain.
Now it was financed by the revenue collected in Bengal. Artisanal production was in decline, and
agricultural cultivation showed signs of collapse. Then in 1770, a terrible famine killed ten million
people in Bengal.

ASSIGNMENT( WORKSHEET)
1)Match the following:

Ryot Village

Mahal Peasant

Nij Cultivation on ryot’s lands

Ryoti Cultivation on planter’s own land

2. Fill in the blanks:

(a) Growers of woad in Europe saw as a crop which would provide co)mpetition
to their earnings.

(b) The demand for indigo increased in late eighteenth-century Britain because of

(c) The international demand for indigo was affected by the discovery of

(d) The Champaran movement was against


https://www.youtube.com/watch?v=PKv0dXiRuYI
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